3rd week Exam; 4th Six Weeks
Molarity, Solubility, Properties of Water

1. Which of the following will produce the largest Molarity?

a. a solution with a volume of 12L containing 1 mole of hydrochloric acid.

b. 660 mL of a solution containing .0074 moles of hydrochloric acid.

c. 792 mL of a solution containing 0.344 grams of hydrochloric acid.

2. Which of the following salts are insoluble?

a. LiCl           b.  NaCl                    c.  AgCl                d.  KCl

3. Which compound is soluble? 

a. Silver phosphate                         c. calcium phosphate

b. ammonium phosphate              d. aluminum phosphate
4. Sucrose is added to water and the sample is stirred.  The excess sucrose settles on the bottom of the beaker. What could be added to the sample for the excess sucrose to be dissolved?

a. Heat

b. Sodium Chloride

c. Ice cubes

d. More water
5. What type of compound is always an electrolyte?

a. Polar covalent

b. Ionic

c. Nonpolar covalent
6. Which substance is most soluble at 20 degrees Celsius?  ( use the solubility graph )

a. KCl

b. NaCl

c. KI

d. NH3

7. Using your answer in question #6,  if 90g of solute is dissolved at 10 degrees Celsius, what type of solution is formed?( use the solubility graph )

a. Saturated

b. Unsaturated

c. Supersaturated

d. Suspension

8. Calculate the molarity of a KCl solution if 37.3 g of KCl are dissolved in water to give a final solution volume of 500 mL.  Is the solution: ( use the solubility graph )
a. Saturated

b. Unsaturated

c. Supersaturated

d. Suspension

9. How many milliliters of 0.500 M Cr2(SO4)3 solution is needed to react completely with 300 mL of 0.115 M BaCl2?

BaCl2 +
 Cr2(SO4)3 (

 CrCl3 +
 BaSO4

a. 0.023 L

b. 11mL
c. 0.011 L

d. 23mL

10. What occurs when a solution becomes supersaturated?
a. It overflows

b. A suspension is created

c. A precipitate forms

d. It all dissolves

11. If I have 340 mL of a 0.5 M NaBr solution, what will the concentration be if I add 560 mL more water to it? 

a. 900mL
b. 0.5 M

c. 102.8938g/mol

d. 0.19 M

12. Which of the following is a universal solvent

a. Bleach

b. Dihydrogen monoxide

c. Sparkling Water

d. Hydrochloric acid
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